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BESE-135 : INFORMATION AND COMMUNICATION
TECHNOLOGY

Time : 3 hours Maximum Weightage : 70%

Note: All the four questions are compulsory. All
questions carry equal weightage.

1. Answer the following question in about

600 words :
Explain the meaning of Educational Technology
and Information and Communication

Technology (ICT). Discuss classification of
educational technology into various categories.

OR

What is Teleconferencing ? Describe various
types of teleconferencing being used in India.

2. Answer the following question in about
600 words :

Explain the meaning of teaching-learning
resources. Discuss various purposes of using
teaching-learning resources in classroom
teaching.

OR

What is meant by educational software ? Discuss
various educational softwares used for classroom
learning.
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3. Answer any four of the following questions in
about 150 words each :

(a) Discuss briefly how you can wuse ICT
optimally for teaching-learning purposes.

(b) What is E-book ? Mention its advantages
and disadvantages.

(¢) Describe the features of an ICT mediated
teaching-learning environment.

(d) What is Enterprise Resource Planning
(ERP) ? Mention the advantages of its use in
educational institutions.

(e) What is discussion forum ? Discuss its uses
in e-learning environment.

(f) Write a short note on open-source software.
4. Answer the following question in about
600 words :

Identify a topic of your choice from secondary
school curriculum. Select appropriate ICT(s) you
intend to use for teaching the topic. Discuss the
factors you will consider while selecting ICT(s).
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